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Given,
a-1la=3
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a3+ 1/a3

= (a-1/a)® + 3.a.1/a.(a-1/a)
= (3)3 + 3.3
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12) If a man swims 4 miters upstream at | mph and back downstream to the
same point at 4 mph, what is his average speed?
1)
0.8 mph

v 2)
1.6 mph



3)
2.4 mph

4)
3.2 mph

T -

Let towards upstream he swims at vl mph and towards downstream he swims at v2 mph . "

v2 = 4 Now, his average speed
2 _ 2

Rule of harmonic mean

Total 5 mph swims 8 mitres
58| 1.6 mph
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13) Two men, starting at the same point, walk in opposite directions for 4
meters, turn left and walk another 3 meters. What is the distance between
them?
1)
7 meters

2)
14 meters

v 3)
10 meters

4)
6 meters



In Right - angled triangle
AOAD,OD = \JOA? + AD?

[ — /4% + 3% — 5 miter
Similarly, for A OBC, OC = 5 miter
.?. Thedistance CD = 5 +5 = 10 mitre

14) 30% of 10 is 10% of which?
v 1)
30

2)
60

15) City B is 5 miles east of city A City C is 10 miles southwest of city B.Which
of the following is the closed to the distance from city A to city C?
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11 miles

2)
12 miles

3)
13 miles
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AQMd, AB = 5 miles, BC = 10 miles

ADC 191 fTerew) AD 1R (AF BD WX &6 BDC TEPIL FARIA! [0S (o I |
BC? = BD?4+CD?

BD = 5v2

AC? = AD?+CD?
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17) Which of the following integers has the most divisors?
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88
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91
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95
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99
I -

88 divisors = 2, 4, 8, 11, 22, 44, 88
91 divisors = 7, 13, 91
95 divisors = 5, 19, 95



99 divisors = 3, 9, 11, 33, 99
.. 88 has the most divisors.
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e O f(-1) = 3x(-1)3 + 2%x(-1)2 - 21x(-1) - 20 = -3 + 2 + 21 - 20 =23-23 =
0
« QG f(-1) = 0, OB 2 AT BT TP TR = x-(-1)= (x+1)
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24) If two typist can type two pages in two minutes, how many typists will it
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A farmer had 17 hens. All but 9 die. How many live hens were left?
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35)
Rahim is 12 years old. He is three times older than Karim. What will be the
age of Rahim when he is two time older than Karim?

1)
15 years
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16 years
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17 years
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18 years

36)
Succssive discountn of 20% and 15% are equal to a single discount of-
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30%
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32%
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34%
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Let, Original price = 100

After first discount the price = 100-20 = 80

After second discount the price = 80-(80x15)/100
= 68

. Total discount 100-68 = 32%

37) If you count 1 to 100, how many 5s will you pass on the way?
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43, S734m® = x - xX60% - 60 = 60
= 220 = 60 + 60

T -
= £ =120
.z =120 — 900
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6) (X3-%x?) (@ (Xx-2) [T SI5Y AT TR PR~
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2
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2 —0.1818 2 —0.2727
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T -

1)
x=1y=-1

2)
x=1y=1

3)
x=-1,y=-1
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3x-7y +10 =0.....(1)

y-2x-3=0

(1) 929, 3x-7(2x+3)+10=0
I

=>3x-14x-21+10=0

=>-1lx=Nx=-1

(2O, y=2(-1)+3=1

x=-ly=1
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) s
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I : f(0) = 0-0+10 =10
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18) 57 07 ®7 b<)7 367 {57 ......

1)
8¢

v 2)
e

3)
CAY

4)
Y

AT oM => +3=19,
OYM=0V4+0 =\,

8 M =Y +8=>0,

QY M =50 + & =)¢,

UB T = D¢ + Y = 3D,
WM =5 +94=R,

bd M= +b =0V,
ATM =VY +» =8¢,
YOH M =8 + 50 =QQ |

19)
Log28 = $97?

20) log2(1/32) 1< d1d-
1)



1/25

-1/5

A 2 = 10g2(1/32)
=l0g2(275)
=-51002(2)

=-5,

21)
X U3y O3 ROGTG 1 AT T @A (TG AN AI?

1)
X+y+1

2)
Xy

3)
Xy + 2
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X+y

22) X2 - 8x - 8y + 16 + y? A3 05T I (151 I AR APTD 9151 2?2
1)
-2Xxy

2)
8xy

3)
oxy

v 4)



2Xy

T2 x2 - 8X - 8y + 16 + y?

=x2+y2 +(-4)2+2.xy+2y(-4)+2(-4)x-2xy
=x2 +y% + (-4)? + 2xy - 8y - 8x - 2xy

= (X +y-4)?%-2xy

SR IR ST 2xy QST A AP s 71|

23)
0B AT Foaad I (ot CFaoe] OB Jiar AMI?
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> 39

3)
5 BT
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SY B

24)
@1 @A Froa?
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5/6

2)

12/15

3)

17/21
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25)



X'(l/x) = 7 then x3 - (]'/x)3 =7

364
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26) 0, 1, 2 Y32 3 T 5TFG 5K TF J20F IR FIOT AR RATspet-

1)
3147

2)
2287

3)
2987

v 4)
2187

T -

BRINGE
[35F] THT O <:'|7
0,9, 3, 0 T[T 5130 5TH AF JR3Y FRYJT = VD0 IJ IO HYTT = YO |

1R, RCTSTTE = (0250-5030) = b4

27)
(x—4)24(y+3)2=100 JCT AT AP ID?

1)
(0,0)



28)
IM a+b=2, ab=1 W T a 12 b A< Td IATFH-
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0,2
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29)
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30)

2H, iR Q7L ST fod Bd BT BTS PACO IR AP 15, 6 U2 10 e | ORI P
od Od ITEL I M O Ao ARE?

1)
21 fma

2)
18 fad

3)
7 ma

4)
15 fmd

31) 12+ 22+ 32+ ....... + X? Q7§19 P9?

v 1)
X(x+1)(2x+1)/6

2)
X(x+1)/2

3)

4)
{x(x+1)/2}?

AT &

MEINGE
B3] TR St
N YT TSI HATH 5[ T = [n(n+1)(2n+1)/6].

(21 S3odTe,
12+22+32+ ... + x2 = [x(x+1)(2x+1)/6].



32)
q o1.f. e RIFR Jee1 SefefRe I51CFaR Crapd] 397

v 1)
b IY &I,

2)
85 Isf .13,

3)
You I5f G113,

4)
y8Y I5f 1.14.

33)
@1d faerer 54t I 3fEo e B g f3s3 @a feafta Jafs vo?
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Sbro°

2)
290°
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VYo°
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¢80°

34) I (Q/P) = (1/4) WS (P+Q)/(P—Q) I T -

v 1)
5/3



5/7

IIT -

(Q/P) = (1/4) = (P/Q) = (4/1) = (P+Q)/(P—Q) = (4+1)/(4-1) = (5/3) [T&T 3
Ramed]

35) 4x2—-16 Q3R 6x%2424x+24 QI .51.3.-

II0T -

A A = 4x2—16
= 4(x>—4)

= 4(x2—2?)

= 2.2(x+2)(x-2).

B3 o IR = 6x2+24x+24
= 6(x*+4x+4)
= 3.2(x+2)2

SO, T 51513, = 2(x+2).

36)
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Sbro?Q
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VYo
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€809
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+ NESRG IR

) Xzy Xy2 up

Zy' m‘f%’)

1)
Xy

2)
X+y

3)
Xy (X +y)

v 4)
x2y(x +y)

)
=X%(X+y
= v3 + X2y

s §y2= Xy (x+y))
- -; = X2y(x+y)

AN =

C'iiBA——{ } A 3'513683213@?
7X\ﬂ
) XEN : x2 > 8,
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1) V169 is equal to -

1) 15
2) 11
v 3)13
4) 17

A : V169= v(13)2=13 Ans.

2) BT 6 AR 3 CFIT IAFCH 503 GIFBRITK \3 YOby ISCHITIACK | JGI0L J20H Sl-
W S PO?

AT = JCTA JIGH SYl= 06 AN, 2r

)x+y=2,x+y? =43 + y3 =307

8
9
16
25

vi1

w N

)
)
)
4)

QA = X24+y2=4; (X+Y)?-2xy=4; (X+Yy)?=4+2xy; Xy=0; x3+y3=(x+y)3-3xy(x+y)=8

4) T 240 TIPT U3 398 Io3fc] o1 [ita e @, I &1 G0 FeTd IR (910 o1
ARSTD PEACH FeT 1 TIPT PO 7160 | (1 Po Bl Perd f[brame?

[T : 240/ - 240/(x+1)= 1; 240x+240-240x/x(x+1)=1; x>*+x-240=0;
x2+16x-15x-240=0; x(x+16)-15(x+16)=0; (x+16)(x-15)=0; x=15



5) (57(n 2) 35*%(57(n-1)) )/4*5"n QI T4 97?

A
N

W
~N O o0 B~

)
)
)
)

I

ATz (57(n 2) 35%(57(n-1)) )/4*5"n=25+7/4=8

I : (N-2)x180 = (5-2)*180 = 540 or Y 51T

7) T O TOTd -2 T2 ATOE 00 IR G ARNS 25 1757 @1 I 5
ST 15 75 BTAT BT | P I 2a-27a 5124y o2

1) 70

2) 85
v 3)75

4) 100

AT 2 X(x+25)=75*1000;
=>x2+25x=7500;
=>x2+25x-7500=0;
=>x2+100x-75x-7500=0;
=> X(x+100)-75(x+100)=0;
=>(x+100)(x-75)=0;
=>x=75

8) 0.0V, 0.53, 0.8, -- X[AFId FAND T AJ?

AT : 0.12/0.03=0.48/0.12=4; 0.48*4=1.92



99A={1,2,3} , B=0XTAUB =397

v 1){1, 2, 3}
2){1,2, @}
) ©

4) {2, 3, ©}

W

YT : A U B means union of all the elements of both sets A and B
AUB={1,23}UQ
={1, 2, 3}

10) RE8A1Z AABC-U3 IRSRR FIq GFTeI Ao @, AD S4TaT 7K 5130 AABD-I9
CFape x I5MA0K | AABC-IR CHFape] 397

v 1) 2x 350
2) (x/2)72 350K
3) (VXx/3)"3 350
4) x™2 I5I0H

1A = FyN1 ey a3 e svard 7t cFa [RFR e okt 3R |

11) QIO TAMORR ICF CFAP S ISR | 17 TS 8 FIBIR TN W3R 2% 8 FAGR IrGIce
CHFaPe ARG AP | ARORPIH POF S ARAARTE IR FOPA CFAPS 90 A ?

1) x3¢ IO
2) v88 I50R
3) Yu» ISR
v 4) >»u I5MITR

AT : xy=192; (Xx-4)(y+4)=192; xy+4x-4y-16=192; x-y=4; x=y+4;
(y+4)y=192; y2+4y=192; y y=2+4y-192=0; y?+16y-12y-192=0;
y(y+16)-12(y+16)=0; (y+16)(y-12)=0; y=12; x=16; “RAA1=2(16+12)=56 ;
T=n56/4=14; TARORPK ICF CFaP= (14)2=196

12) fodiD T ST ST IR QTSR € S, 4T {odibd 516 o ?

v1)4
2)5
3)3
4) 6

[T : X(X+1)(x+2)=(X+x+1+x+2)5;
(x+1)(x2+2x)=(x+1)15;



(X+1)(x?+2x-15)=0;
(x+1)(x+5)(x-3)=0;
x=3; 3,4,5 T0=3+4+5/3=4

13) Q@1 SR 0.5CAATANRP ©T5T AR 0.5 TICSK JE AP .0 T, HLUTT 397?
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(4

oo

M4 2 x(1/9-0.1)=1; x=1/0.01111=90

14) 0 PO TR AP I GFTGIA @O TGI51 AT AT QA (RIT WM TG WER 72 DORIH 2,
(20 WO S 0 P52

T : /A I, T WK S P PO

J3 &6 T AT /0 = 3T/ P
2IACT, T + (RP/O) =10

T, (OF +33)/0 = X0

q1, ¢ = Yo

I =

(B RO S (R XDR)0 = b T

15) (x-y, 3) = (0, x+2y) A (X,y) =90 ?

v 1)
(1,1)

2)
(1,3)

3)



IIT -

o (NSAT AN, (X-y, 3) = (0, X+2Y)

e,

* Xy =0--- (i)

* X+2y = 3 ----- (ii)
(i) 72 TS 73

¢ X=Yy ----- (iii)

(ifi) 92 @ x Q9 T (ii) 9 Q I 113,

*y+2y =3
*AMy=1 --—-- (iv)

(iv) 92 O y U3 T4 (i) 72 a I 113,
ex=1
SO, (x,y) = (1,1)

16) vTt fagrer 5 @R “ifJ@dT vee 3 ¢¢° | fagaf® @  RE?
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ST
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o1, faeai it |

17) 310 A1 fIgrew o7 ©f Qs 2 1. . (@16 ; 77 aifoge G @eies G, . 35|
OGS PO?

v 1)
yo G113,

2)
v Gl

3)
8 G1.f.

4)
v &L

IIT -

SRR

Ol = x G,

O, 79 = X - 2 GL.f. @3
Ao = x + 2 GLI.

OO,

T2 + %2 = Afooe

= X2 + (x-2)2 = (x+2)2
>x2+x2-4x+4=x2+4x+4
=>x2-8x=0

X =38

L AOROR i =8 +2 = 10

18) BT AR WPH ¢ 1. . x 8 1. 7. x >.¢ &1 f. T ee &, . s, 8b &1, . 2% a3k
Vo 1, fA. THOIRPR QBT IR T PO SIS AT T2

v1)
uso o
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S0 11

3)
vvoo B

4)

&bo

II0T -

SRR ARG = (€ x8x).¢) Td (3.7 = vo Td .1
<3 TR = (€& x8bx00) Td G1.fH = 900 T GL.fA.
SRITE 10T &= (A00+00) b = 3wgo T

19)
Va3 = 397
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2)

v 3)
a™Ys

4)
a3
AT &
3V3Va3 =3Va =a"%

20) f5a SR W36 RGEHER SR 57 I 24 I27 | I @IET SR I958 21 IZRA [
a1 2 O BI0R @ICAT IS ST A 397
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25 24
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28 I=d
4)

32 I=d
AT &

* 3 T(AX 5T ITH = 24 I57 | WO, 3 TR FI6 IT 24X 3 = 72 I5J|
o IR\3 ITN 21 U T a1 X, 2 TR SRIAT WA = 21 X 2 = 42 I27|
* MWUJ 1 BA] T ITH = 72-42 = 30 I2J |

21)
Tm & A ={5, 15, 20, 30} W32 B= {3, 5, 15, 18, 20} T O fdbx @A AnB faci
IIQ?

1)
{3, 18, 30}

2)
{3. 5, 15, 18, 20, 30}

v 3)
{5, 15, 20}

4)
@103
I &
AnB = {5, 15, 20, 30}n{3, 5, 15, 18, 20} ={5, 15, 20}

22) Q3T ARMGPR TEI 2% BRI A /0 WX | TIOA ARSI 80 TR T O CFawe] PO ?
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vo 5O
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CKRIRE
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Q3 I5AoR
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w8 ISIFRoR

AT : RIOCHA ARSI, (O + @) AL CFaDe] =T x U
B0 AROPR TR 2% O AT /0 TRXT

TS 40D AR, OF QIR A8 XA T

(0T +3F) = 80

50 T =80

F=8

WO, CFAP = OTX 3P

=08 x .8

=0 Xb

= DY

23) facz @Taf (V5 - V3) O] STE1d?
1)
V2

2)
1/{2 (V5-V3)}

3)
(1/V5) - (1/V3)

v 4)
2/(V3+V5)

II0T -

e (V5 -V3)

e =[{(V5-V3) x (V5 + V3)} / (V5 + V3)]
e =[{5-3}/(V5 +V3)]

o = 2/(V3+V5)

24) (3V3 x 3V4)5 = F0?

1)
12

2)
48
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(3V3 x 3V4)6 = (3V12)5 = 122=144

25)5, 5,3, 9, &, b, 0, 3, IR SOF “MiD PO?

1)
08

v 2)
e

I &

« O M . 4> =3
* 8YM .34> =0

¢ QHOM .04 =C

c VY AT . G40 =b

* QF M . b+Q = >0

© LT . D0+b =D

© DT IM . +D0 =08
¢ YOH 9 . 08 43D = Q¢

26)
g (a/b)*-3 =(b/a)** W ©W&@ X QI N F© ?
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8

2)



AT &
(a/b)*=3 =(b/a)*—>

=> (a/b)*—3 =(a/b)>~*

=> X-3 = 5-X
=>2Xx=28
=>X=4

(SN

27) ST 524 373899 TTPT AP AR | 7Y2 I8 217 [ofd WS TR 1Y% WX 57
(SICTd | NP SR 2K T2

1)
12%2%

v 2)
16%3%

3)
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4)
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I &

5% = 373899 x 1V4
= 373899 x 5/4 = 467373.75 OI0T

7Y 31 15/2 I2EA 5K 467373.75 U1



1 2K 5 (467373.75 x 2) / 15 5101 =
62316.5 OIPT

373899 TP 1 I2RA 3% 62316.5 OIT
100 TP 1 I=RH 5 (62316.5 x 100)/
373899 T

= 16%; T |

28) m IRYTP SRYTIF MY X QIR N TP TR 5Ny A 3 ST 5T PO ?

1)
(x+y)/mn

2)
(x+y)/(m+n)

v 3)
(mx+ny)/(m+n)

4)
(Mmx+ny)/mn
I -
M\SYT TG,

* M UYP FAR= mx, L

° N SRYRP FAE = ny.

* (810 5T = (M + n)

* STOAIR, AP SR 5T = (MX+ny)/(m+n)

29) 238 = 32 X U] q[d P907?
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* CI\OT WY,

* 36.23x8 = 32

e => 23x8 = 09/36
e =>238=1/4
e => 23x-8 = D2
e =>3x-8=-2

*=>3X=06
O=>X=2
30)

¢ Td Bfo A ¢ | ¢ b 31710 o “E@d | Q93 43R aft I1910 Ja0o a T A I fMa
I ?
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¢ faa
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:¢/85 g
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4)
q frq

II0T -

e ¢ 031715 ¢ &d - ¢

o 31, ¢ T I > Td - (¢x¢) i

* 1,5 0 191G 5 T - [(€x¢)+¢] Fd

« 1,5 019G A T - [(ex¢)+(¢xq)] Fd

o OA1R, 4 0 FT91G Q T - [(@x@xQ)+(¢xq)] i@ = [>ae+0e] ficd = ¢ facd |

31)



X[y Q< Y PO QM5 PACET QTR y/X AI?

1)
(x2-y2)/xy

2)
(2x2-y?2)/xy

v 3)
(y2-x2)/xy

4)
(x2-2y?)/xy

I &

(y/x) - (xly) = (y2-x2)/xy

32)
A%+ 4%+ 4%+ 4% 9T F19 T @Tai0?

1)
16~

2)
44x

v 3)

22X+2

4)
28x

I &

AX 44X+ 85+ 4% = 4 X 4% = 22 x 22x = 22x+2

33) uBTb TR I Tf b 1. . 3 5 &1, . | 93 I9CW CFawier Al CFapaI e
ISCFCaA AT PO?
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3)
oo &, 3,

4)
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II0T -

JIOR AP = (Y2) x PMRAL ST
= (%2)x8x9 = 36 I 1.1,

SIES

ISIOFCad K Olf = a LA

SJOA1E, a2 = 36, Wi, a = 6 GI.fA.

. ISCFATDA AT = 4a = (4%6) = 24 GL.iA.|

34) 3 1. 7., 4 &1. . \3 5 51 . IRRIFTE foalb Ta@ s1fev aod I T3 (Of1 P12 | agd
TAA A O] PO XA?

1)
75 .

2)
6.5 . /.

v 3)
6 G1. fa.

4)
7 &1 .

T &

AP TRTOA = (I1R)3

SH TP WRIOA = (3)3 = 27 T &1, A

Y TP QRO =(4)3 = 64 99 &1, T,

O TAPL AROA =(5)3 = 125 T4 1. .

W1R, F9d TAPI OO = 27 + 64 + 125 T4 1. 7. = 216 79 1. .
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